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OHYEVR SCHOOL OF COMPETITION

1. Which one of the following is used to stop
blood flow?

(a) Ferric Oxide (b) Ferric Bromide
(c) Ferric Chloride (d) Ferric Acetate

2. Given below are two starements, one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A): Ethylene glycol is added to

the radiators of cars.

Reason (R): This is done to reduce the

freezing point in cold countries.

Select the correct answer using the codes

given below :

Code:

(a) Both (A) and (R) are correct, (R) is the
correct explanation of (A).

(b) Both (A} and (R) are correct but (R) is
not the correct explanation of (A).

{c) (A) is correct but (R) is incorrect

(d) (A) is incorrect but (R) is corr

‘3. Photochromatic glass auto
darkens in milk due to the pres

(a) Chromium Oxide

(c) Cuprous Oxid

4. Given below
labelled as As
Reason (R) :

Assertion (A): Gold

mercury.

Reason (R): The density of g¢

than the density of mercury.

Select the correct answer using the codes

given below :

Code:

(a) Both (A) and (R) are correct, (R) is the
correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is
not the correct explanation of (A).

{c) (A) is correct but (R) is incorrect.

(d} (A) is incorrect but (R) is correct.

SERIES:A
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5. Which of the following does not behave
as both an exocrine gland and an
endocrine gland?
(a) Pituitary  (b)
{c) Testis (d)

Pancreas
Ovary

6.  Which of the following organ of the human
body is responsible for water balance in

it?
(a) Liver (b) Kidney
(c) Heart (d) Lungs

7. The sugar found in DNA is :
(b) Heptulose
(d) Xylulose

Je help of given codes:
List-II
{Inventor)
Domangk
Landsteiner
Banting
Leuven Hawk

O DN =

(b)

()
(d)

= W wiNow
AN DO

D
1
1
1
2

9. Which of the following statements is/are
correct ?

1. Heterotroph characteristics are found
in all consumers.

2. First class consumers are both
vegetarian and non-vegetarian.

Code :

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2
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UHYEYA SCHOOL 0F COMPEVITION

10. The presence or absence of which one of
the following does not have a significant
impact on energy flow and cycling of
nutrient in an ecosystem?

(a} Primary Producer (b) Decomposer

(c) Consumer (d) All of the above

11, In which year India joined the Ramsar

Agreement?
(a) 1971 () 1975
{c} 1978 d) 1982

12. Match List-I with List-II and choose the
correct answer with the help of given

codes: ’
List-I List-I1
(National Park) (State)

A) Hemis High 1. Himachal

Pradesh

B} Pin Valley 2. Ladakh

C) Mukundra Hills 3.

D} Gugamal 4.

Code :

A B C D
(a 1 2 4 3
) 1 2 3
() 2 1 4,
@ 3 2 1%

13. The MIKE progran
conservation of which
(a) Hangul Deer
{b) Elephant
(c) Tiger
(d) Ganges Dolphin

14. Which of the following is the highest
waterfall in the world?
(a) Angel Falls
(b) Tugela Falls
{c) Sundar Land Water Falls
(d) Ribbon Falls

SERIES:A
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15. Match List-I with List-II and choose the
correct answer with the help of given

codes:
List-I List-II
{Desert) (Location)
A) Nafud 1. Australia
B) Kalahari 2. Botswana
C) Sonoran 3. Saudi Arabia
D) Gibson 4. USA
Code :
A B CD
(@ 3 4 2 1
(b) 4 1
»1 2
3 1
ollowing statements

tributary of Indus
ct is operational on this

also known as Askani.

i river is its main tributary on the
right side.

hoose the correct statement(s) :

(a) 3and 4 (b) 1and3

(e} 2,3 and 4 (d) 1,2and3

Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II
(Tribe) (Country)
A) Semang 1. Malaysia
B) Highlanders 2. Philippines
C) Atos 3. Scotland
D) Maori 4. New Zealand
Code :
- A B CD
a 4 2 3 1
) 1 3 2 4
) 1 2 3 4
@ 4 3 2 1
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DHYEYA SCHBOL OF COMPETITION

18.

19. Ionosphere is important because
1. It contains abundance of el
charged particles.
2. It is free from seasonal m
Choose the correct st
(a) Neither 1 nor 2
(c) Both 1 and '
20. Match List-I v
correct answer
codes:
List-I
{Major Passes) 24.
A) Lipulekh 1. Manipu
B) Diphu Pass 2. Sikkim
C) Nathu La 3. Arunachal Pradesh
D) Tuju Pass 4. Uttarakhand
Code :
A B C D
a) 1 3 2 4
by 4 3 2 1
c) 1 4 3 2
@ 1 2 3 4
SERIES:A Page No. 6

Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R} :

Assertion (A): Levanter is a polar wind that
blows in winter in the southern United
States.

Reason (R): Local winds are caused by
local differences in temperature and air
pressure and affect a very small area.
Select the correct answer using the codes
given below :

Code:

(a) Both (A) and (R) are correct, (R) is the
correct explanation of (A).

(b) Both (A) and (R) are correct but {R) is
not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A} is incorrect but (R) is correct. ‘

21.

22.

Which of the following soils found in India
is related to the production of tea, coffee,
rubber and cashew?

(a) Mountain soil (b) Black soil

(c) Red soil {(d) None of the above

Which one of the following pairs is not
correctly matched?

(Tribe) (Charateristics)
(a) Bhoriya ~ Seasonal Migration
(b) Korba - Kurukh Language

(¢} Garasia — Pahravana Marriage

— Joint Family System

List-II and choose the
ith the help of given

List-II
{Location)
Rajasthan
Uttar Pradesh

Maharashtra

o
L]
©
N

Gujarat

A B C D
a) 4 2 1 3
by 3 1 2 4
) 2 3 4 1
@ 1 2 3 4

Consider the following statements :

1. Parwa soil is found in Hamirpur,
Jalaun and coastal areas of Yamuna.

2. There is lack of organic elements in
this soil.

Choose the correct statement(s) :
(a) Neither 1 nor 2

(b) 2 Only
(c) Both 1 and 2
(d) 1 Only
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BHYEYA SCHOOL OF COMPETITION

25. Which of the following Mahajanapadas
was expanded around present-day
Kushinagar and Deoria?

(a) Shursena {b) Kaushal
() Malla (d) Kuru

26. In the context of Hindustan Republic
Association, consider the following
statements :

1. It was established in Lucknow in 1924.

2. Its commander was Ramprasad
Bismil.

3. Its headquarters was Agra.

4. In the year 1930, its name was
changed to Hindustan Socialist
Republic Association.

Choose the correct statement(s) :

(a) 2Only (o) 3 Only

(¢) 1Only d 2and3

27. Match List-1 with List-II and choose
correct answer with the help of give

List-I List-II
(Litterateur)

A) Keshavdas 1.

B) Lallu Lal 2.

C) Maithili

Sharan Gupta
D) Jaishankar

Prasad
Code :

A B C
) 2 4 1
b)) 4 2 1
c) 3 2 1
d 1 2 3

28. Consider the following pairs-

(Festival) (District)
1. Ram Barat Utsav -~ Agra
2. Kampil Utsav -  Firozabad
3. Son Festival - Sonbhadra
4. Sardhana Festival - Mathura a2,
Choose the mismatched pairs :
{a) 2and 4 (b) 1and 3
() 1and?2 (d 3and4
SERIES : A Page No. 8

29.

30.

1. A biome is named on the basis of its

Consider the following statements :

dominant vegetation.
2. No two biomes are alike.
Choose the correct statement(s) :
(a) Both 1 and 2

(b} 2 Only
(¢) Neither 1 nor 2
(d) 1 Only

Match List-I with List-II and choose the
correct answer with the help of given

List-II

{State)

al Park 1. Kerala
Park 2. Gujarat
*Park 3. Goa

4. Meghalaya

W NN = b
MH.{L;—A()
= s W wyg

Consider the following conservation
projects and
chronological order using the given codes:
1. Project Cheetah
2. Project Vulture

arrange them in

3. Project Great Indian Bustard
4. Project Red Panda

Code :
(a) 4,2,3,1 ) 3,2,1,4
) 1,3,2,4 d 1,2,4,3

National Dolphin Day is celebrated on-
(a) 5th October (b) 17th June
(c} 12th August = (d) 29th July

P.T.O.
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DHYEYA SCHOOL OF COMPETITION

33. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II
(Agricultural (Originator)
Revolution)
A) Silver 1. Durgesh Patel
B) Red 2. V:.shal Tiwari
C) Yellow 3. Sam Pitroda
D} Pink 4. Indira Gandhi
Code :
A B C D
fa) 2 3 4 1
by 4 2 3 1
¢ 2 4 1 3
g 1 4 3 2

34. Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A): It is necessary to have
subtle amount of vitamins in food for
healthy body.

Reason (R): Vitamins provide ene
body.

Select the correct answer usin
given below :

Code:

{a) Both (A) and (R)

(b) Both (A) ar

(d} (A) is incorrec

35. Match List-I with List-
correct answer with the he
List-1 Lis
(Fruit) (Edible Part)

A) Water Chestnut 1. Aril

[E]raE)
m
36. Consider the following statements :
1. Bist Doab is in between Vyas and Ravi
rivers.
2. Rachna Doab is in between Chenab

and Jhelum

Choose the correct statement(s) from the
above :

{a) Both 1 and 2

(b) 1 Only

(c) Neither 1 nor 2

(d) 2 Only

List-II

(Area)
1. Mexico
USA
France

4. Australia

NN~ woa f

D
2 4
3 2
4 1
3 1

Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A): The Eastern Ghats are not
found in a series form.

Reason (R): Many rivers have cut it at
many places.

Select the correct answer using the codes

B) Custard Apple 2. Cotyledons given below :

C) Wheat 3. Endosperm Code:

D) Pomegranate 4. Fruit wall

Code : (a) Both (A) and (R) are correct, (R) is the

A B CD correct explanation of (A).

@ 4 3 2 1 {b) Both (A) and (R) are correct but (R) is

b 1 2 3 4 not the correct explanation of (A).

) 2 4 3 1 (c) (A) is correct but (R) is incorrect.

d 4 2 3 1 (d) (A) is incorrect but (R) is correct.
SERIES:A Page No. 10 P.T.O.
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39. Match List-1 with List-II and choose the
correct answer with the help of given codes:

List-I List-II
(Soil) {Crop)
A)  Alluvial 1. Cotton
B) Black 2. Tide
C) Laterite 3. Cashew
D) Desert Soil 4. Paddy
Code :
A B CD
a) 4 1 3 2
b 2 3 1 4
) 4 2 3 1
d 1 2 3 4

40. Batra, Podu and Jara are-

(a) Activities related to conservation of
forests

(b) Potato varieties

(c) Plants growing on hard rocks

(d) None of the above

41. Match List-1 with List-II and
correct answer with the help of gi¥
List-I '
{Country)

A) Botswana

B) Comoros

C) Ghana
D) Libya
Code :

A B C D
(@ 3 4 1 2
b 4 2 3 1
¢ 2 3 4 1
d 1 2 3 4

42. Which one of the following river
originates from the Rocky Mountains of
the United States and falls into the
Pacific Ocean?

(a) Nelson River

(b) Yukon River

{c) Columbia River
(d) None of the above

SERIES : A

Page No. 12
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43. Consider the following statements with
reference to National Waterway-l :

1. The length of this waterway is 1620
km.

2. This waterway is under the Ganga-
Bhagirathi and Hooghly river system.

3. In the year 1986 it was declared a
national waterway.

Choose the correct statement(s) :

(a) 2and 3 (b) land3
{c) 1and?2 (d) All of the above
44, Matc ist-I with List-II and choose the

r with the help of given codes:
List-II
(River)
. Raru River
Sharavati River
. Chambal River
. Subarnarekha

River

o]
3
4
1
4

HIQOJHU

4
1
3
3

Consider the following statements
regarding Chho Lhamo Lake-

1. This is the highest lake of India.

2. Adyar River originates from this lake.
Choose the correct statement(s) :

(a) Neither 1 nor 2 (b) 2 Only

{c) Both land 2 (d) 1 Only

46. Great scholar of Pali language of 5th
century AD, whose book ‘Visuddhimagga’
is the main text of Hinayana sect -

(a) Ashwaghosh .-
(b) Bhavaviveka

{c) Dharmakirti’

(d) None of the above

P.T.O.
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@
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DHYEYR SEHOOL OF COMPETITION

47. Consider the following statements with
reference to the teachings of Jainism :

1. Belief in truth is called Samyak
Darsana.

2. Proper conduct means compliance
with the five Mahavretas.

Choose the correct statement(s) :

(a) Neither 1 nor 2 (b} 2 Only
{c) Both land 2 (d) 1 Only

48. Match List-I with List-II and choose the
correct answer with the help of given

codes:
List-I List-I1
(Head) (Department)

A) Akaradhyaksha
B} Panyadhyaksha
C) Kupyadhyaksha
D) Mudradhyaksha

Passport Dept.
Head of Forests

Commerce Dept

L

Code:

A B CD
@ 4 3 1 2
by 4 3 2 1
¢y 1 2 3 4
@ 1 2 4 3

49. In the conte
Match List-I
correct answer
codes:

List-1
(Major Sites)

A) Bhagwanpura 1. Punjab
B) Kuntasi 2. Haryana
C) Sanghol 3. Uttar Pradesh
D) Alamgirpur 4. Gujarat
Code:
A B C D

a) 4 2 1 3
b 2 4 3 1
¢ 2 4 1 3
@& 2 1 4 3

SERIES : A
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50. Choose the incorrect statement from the
following :

(a) Later Vedic Aryans had knowledge of
the sea. )

(b) Kunal is a pre-Harappan Indus Valley
Civilization settlement, situated in
Gujarat.

(c) In Jainism the world is considered full
of sorrow.

(d) The preachers of Shaivism in South
India have been called Nayanars.

51. Given below are two statements, one is
labelled as Assertion {A) and other as
R N

): Constitutional Assembly
f indirect election.
ectoral college of State
blies was used for the
tituent Assembly.

er using the codes

ahd (R) are correct, (R) is the

explanation of {A).

p{A) and (R) are correct but (R) is
5t the correct explanation of (A).

(A) is correct but (R) is incorrect.

(A) is incorrect but (R} is correct.

Consider the following :

1. Vice President

2. Prime Minister

3. Governor

4. Chief Election Commissioner

Who among the above is/are appointed
by the President ?

{a) 2,3 and 4 (b) 1,3 and 4

(¢} 1and3 {d) All of the above

53. Superintending power of High Court on
the Subordinate Courts mentioned in
the article 227, has been declared
inviolable fundamental structure in
which case ?

(a) Minerva Mills Case

(b} Indira Sahni Case

(c¢) Keshvanand Bharati Case
{d) Bommai Case

P.T.O.
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47. S o ot forgme & wad ¥ Fefefe
o o W faEr -
1. T H fovara & & g <wi ww v
1
2. ER, STEROT ol o W TEIeRT & STUIeH
2
T wUT/HAN W AT R
(@ T 1A 2 (b) wa 2
(€ 1 3 2§ (d) e 1

48. HE-1 ! -1 ¥ GAfEE Y qen 7 Ky e
FE I eI ¥ HEl W e~

G- E-11
(3remer ) (fewr)
A) STERYTEI 1. T o
B) uATEdE 2. I T 31egy
C) THEIe 3. arfuRy faam
D) H=AY 4. @™ faum

®e:
A B CD
@ 4 3 1 2
) 4 3 2 1
© 1 2 3 4
@ 1 2 4 3,
49. TTWT WA
g1 9
w1 TEE ¥ wEl
gh-1
(uqE et )
A) TEFYY 1
B) w-ardl 2. gfamon
C) wEw 3, IW WA 53.
D) STEHTIGL RIS
e
A B CD
(@ 4 2 1 3
b) 2 4 3 1
c 2 4 1 3
@ 2 1 4 3
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oTesE 227 W afita Swer =A™ @t sreiee
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DHYEYA SCHOOL OF COMPEYITION

54. Under which of the following provisions,
arrangements for the reservation of
schedule caste and schedule tribes in
every Panchayat has been made ?

(a) Article 243(Q) {b) Article 243 (V)
{c) Article 243 (S} (d) Article 243 (D)

55. Which of the following statements
regarding State Legislative Council is/
are correct ?

1. This is a permanent house, which is
never dissolved.

2. Tenure of its member is upto 6 years.

3. One-third of its members are
nominated by the governor.

Code :
(a) 1and2 {b) 2 and 3
(¢) 1and 3 (d) All of the above

56. Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A): In democracy, ther
system to curb an institution over
Reason (R): There is control of
over Legislature.
Select the correct answer usin
given below :
Code:
(a) Both (A) and (
correct explag
(b) Both (A)
not the
{c}) (A) is corre
(d) (A) is incorre

B57. Consider the follo
regarding State Pu rvice
Commission :

1. The determination of number of
members of the commission is under
the discretion of the governor.

2. Governor determines the service
terms for the chairman and members.

3. President can remove the chairman
and the members of the commission
from the post.

Which of the above statements is/are

correct ?

(a) 1and?2 (b) 2and 3

() 1and 3 (d 1,2and3
SERIES : A
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58. The only Muslim women among 15

female members of Indian constituent

assembly was :

(a) Mariyam Siddiqui

{b) Begum Ezaz Rasul

-(c) Nazneen Khatoon

(d) Shabana Begum
59. Which of the following is not a
fundamental Duty :

(a) Encouragement to the scientific
approach.

{b) Stay away from violence.

{c) Efficient management of private

g the Natural Environment.

ollowing Acts, Partially
overnments in the

hich of the following articles
r of Loksabha presides the joint
eeting of both the houses of
parliament?

(a) Article 118(4}) (b)
(c) Article 108(1) {d)

Article 118(3)
Article 108(3)

62. Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A): Tertiary Soil is found in the

Shivalik Mountain regions of U.P.

Reason (R): This region remains water-

logged, due to which this land has been

developed.

Select the correct answer using the codes

given below :

Code:

(a) Both (A) and (R) are correct, (R) is the
correct explanation of (A).

{b) Both (A) and (R) are correct but (R) is
not the correct explanation of (A).

(c) (A} is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

P.T.O.

Best Study PDF & f3€ gHT¢ App &1 Download &2 "GK Trick By Nitin Gupta”


https://play.google.com/store/apps/details?id=co.sansa.vidyc&hl=en_IN&gl=US

& Nitin-Gupta.com

54. T waarEl 9§ farwe ermia yes veEa
¥ srgfem sl qen g STt
& fo sraruT W SR Wi 87
(@) 19 243 (Q (b) 31T 243 (V)
(c) 3T 243 (S) (d) 3T 243 (D)

55. T faem ufive & deig ¥ fret wodl f B
A wd /87
I % U Tl WEA & 9 el o T e 2
2. TU geEl o wEER 6 @ i g 2
3. TO% TH-T9Er weel wl T gry A

o s 81
we:
@ 1 32 b) 2 33
(¢) 1 93 () SR ah

56. < Q ey fKu ¥, e 9@ ww W e
(A) aﬁz@iaﬁw (R) ww%m

57. T Wik QaT AT % T4

R e -

1. STEN & GEE W) wed o e wsae
% fademela 21

2. oUW, ede TS UIE HI Wel vl Wl
i w@ 2

3. Ueufd A § Sy TH WeEl w0
Y B T B

Fudad wO ¥ W wEA-ar/A wE 22 ?

@ 1 3WR2 b) 2 33

) 1 33 @ 1,2 3R3
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(a) wfem fogdet
(b) WTH TS A
(c) IS B
(d) Y& STH

59. freifefed § § H e whdod TRl §-
(a) SEfr ghesmior S W 3
) fEmr g g wm
c) Treft gwufa w1 9@ JaveF T
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(a) STIER 118(4) b) TR 118(3)
(c) ST=% 108(1) (d) STT=3] 108(3)

A= g woa Koy €, fowd @ e ) sifener

(A) @R W A HRO (R) el T &~

SifiraRg (A): 2RIl fioedt 3w ww 4 Rrenfes

et & A Rl S ?)

HIUT (R): 5 &7 stercenfea & 8, foms st

7 fiedt @1 foe@ gen ©)

2 Ry T wE ¥ 9 IW H 9 RINC-
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@) (A) T (R) 2 W& € 9o (R), (A) I W&
A H B

(b) (A) e (R) T W § TR (R), (A) W
TE e T R

©) (A) TE 2 W (R) Tod B
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DHYEYA SCHOOL 6F COMPETITION
63. Which one of the following lakes is
situated at the borders of Bolivia and

Peru?
(a) Reindeer {b) Titikaka
(c) Ribbon (d) Boiling lake

64. Which one of the following pairs is not
correctly matched ?

(a) Panchbhadra Lake - Rajasthan
(b) Songmo Lake - Sikkim
{c) Lonar Lake — Maharashtra
(d) Jaansar Lake —~ Himachal

' Pradesh

65. Which one of the following plateaus is
situated between Arawali and Vindhya
range?

a) Chota Nagpur Plateau

o

(

(b} Plateau of Malwa

(c) Plateau of Telangana
(d)

Plateau of Mysore

66. Trans Siberian Railway is the
track of the world.
Eastern Station a
(a)
(b)
(c)

(d) Vladivostok and

67. Canterbury plains is
plain of which country ?

(a) Argentina (b) Brazil
{c) New Zealand (d) Canada

68. Belgium, Netherlands and Luxembourg
also known as :

{a) Lowland Countries
(b) Highland Countries
(c) Hilly Countries

(d) Desert Countries.

SERIES : A
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69. Under which of the following Agriculure
Method, the agricultural land is being
kept in the form of Pasture for 2 or more
years?
(a) Organic Farming
(b) Ley Farming
(¢) Truck Farming

(d) Livelihood farming

70. Which of the following pairs is/are
correctly matched ?

(Warm

ater source) (State)

— Himachal Pradesh
— Uttarakhand

— Sikkim

o

b) 2and 3
d) Only 1

—

List-II and choose the
er with the help of given

List-II
“{Grasslands) (Region)
Selvas 1. Venezuela
Parkland 2. - Australia
Downs 3. Africa
Lanos 4. Amazon Basin

A B COD
@ 2 1 4 3
b 3 4 1 2
© 4 3 2 1
@ 1 2 3 4

72. Great Barrier Reef, which is a coral reef
in the sea along the north eastern coast
of Australia, is situated in which state ?

(a) Queensland

(b) New South Wales
(c) Victoria

(d) None of these

P.T.O.
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64.

65.

66.

67.

68.
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(d) e frafe S
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TEGTE
ISIEST
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1. oSEE
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2 1 4 3
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© 4 3 2 1
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DHYEYR SCHOOL OF COMPETITION

73. In which one of the following years Vasco
da Gama visited India again ?

(a) 1498 AD (b) 1500 AD
(c) 1502 AD (d) 1504 AD

74. In which of his following famous books
Amir Khusro has described the victory
of Malik Kafur, the commander of
Alauddin Khilji over Chola Empire ?

(a) Nur Sipihr

(b) Kiran-us-saden
(c) Khazain-ul-futuh
{d) None of these

75. Ibn Battuta had visited Delhi during the
regime of Muhammad bin Tughluqg. He had
mentioned his Travelogue in ‘Kitab-ul-
Rehla’. This Travelogue is written in
which language?

(b) Arabic

(d) Turkis

(a) Persian
(¢} Urdu

76. In the 19th century, Indian Na
had opposed ¢ Lex Loci,A

(a) This act
conversio

(b) This act
education.

(c) This act was e
killing.

{d} This act was
polygamy.

impos an on

77. A governor general had participated in
a Congress Session. Who was the above
governor general and place of session from
following ?

Karachi, 1931 AD
Bombay, 1915 AD
Bombay, 1885 AD
Lucknow, 1916 AD

(a) Lord Irwin -
(b) Lord Willingdon
{c) Lord Dufferin
{d) Lord Hardinge

1
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78. Consider the following pairs :
1. August Offer — Lord Linlithgow
2. August Resolution - Mahatma Gandhi
3. August — Montagu
Announcement Declaration

Which of the following pairs is/are not
correctly matched ?
(a) 2and3 (b)1land3
(c) 1and2 (d) All are correctly matched

79. Only 2 Mahajanpadas mentioned in the
Anguttara Nikaya were of Republican
form. These two Mahajanpadas were :

and Malla

Magadha

Shoorsen

Kamboja

ing pairs is not

(Tomb)
- Kabul
— Lahore
Delhi
— Sikandra

ich of the following banks was the first
Indian Bank based on European Banking
System ?

(a) Punjab National Bank

(b) Awadh Commercial Bank
(c) Imperial Bank of India
(d) Bank of Hindustan

" 82. The author of ‘Ghubar-e-Khatir’ is :

(a) Mirza Ghalib

(b) Altaf Hussain Hali
(c) Shibali Nomani
(d) Abul Kalam Azad

83. From which of the following Saindhav
Nagar, not a single Maranmurti of
woman is found. While it is considered to
be the one of the most significant features
of Indus Civilization?
(a) Mohenjo-daro (b) Lothal

(c) Harappa (d) Kalibangan

P.T.O.
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DHYEYA SEHOOL OF COMPETITION

84. Which one statement regarding capital

expenditure is incorrect ? '

{a) Due to this, deterioration in financial
responsibilities of govt. happens.

(b) Physical asset is built by this.

(¢} Increase in capital expenditure is the
indicator of economic growth.

(d) This
expenditure.

is also called day-by-day

85. Which one of the following is not a basis
of determination of Quota of I.LM.F.?

(a) Share of the country in World Trading

(b) Position of Payment Balance in the
country

{c) Per Capita National Income

(d) Economic Development

86. Consider the followings :

1. IFCI 2. ICICI
3. IDBI 4. SIDBI
The correct chronology
establishment of these is :

{a) 1,2,3,4
() 2,1,3,4

b

87. Which of the fo
Market’ ?
(2) Primary In
(b) Secondary Ind
{c) Vikas Vitta San
(d) None of these.

88. ‘Human Development Index’ is the
combined index of which of the following ?

(a) Nutrition Position, Quality of Life and

EARE
@&l

89. Which of the following statements
regarding ‘UNCTAD’ is/are correct ?

1. It was established in 1985 at Geneva
(Switzerland).

2. Trade and Development Report is
released by UNCTAD.

Code :
{a) Only 1 (b)
(c) Both 1 and 2 (d)

Only 2
Neither 1 nor 2

90. ‘Green Box’is a:

{a) Hot Money.

Funds by which investments

securities has been made.

inancial Assistance given

ieera Seth Committee

Vyas Committee

2. In which of the following places, Regional
Rural Bank was not established on 2nd
October, 19757

{a) Gorakhpur
{c) Pune

(b} Bhiwani
(d) Malda

93. Consider the following pairs :
{Poverty Estimation {Estb. Year)

Committee)

Per Capita G.D.P 1. Alagh Committee - 1979
o 2. Lakdawala C itt ~ 1993
{b) Poverty, Life Expectancy and Academic axdawala Lommuittee
Achievement 3. C. Rangarajan Committee— 2012
() Life Expectancy Academic Which of the above is/are correctly
Achievement and Per Capita Income matched ? )
(d) Inflation, Unemployment and Per (a) 1and2 (b) 2and3
Capita G.D.P. (c) land3 (4) 1,2and3
SERIES : A Page No. 22 P.T.O.
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2
84. U = & Weigh W HIA-T1 TF Hor e
2
(a) TEQ GER @ g swifaa o o/ g
R
(b) R i wwfa w1 Fafor g 2
() Yfra =T w1 S, Steforaen &1 g
1 g B
(@) 3V RA-ufaf & oma o we s R

85. MEUWUW, & wwier Freivor s e =
T T 37
(@) 29 @ fova =R # frwderd
(b) <o ¥ Jrar dger @ feafq
(c) i =ufdm U= o
(d) o faer

86. fr=fafaa W fo=m =N~
1. STMEuwHiesT® (IFCI)
2. oTddieTEdEeTE (ICICI)
3. orEeiefen (IDBI)
4. foest (SIDBI)
TRl TATYT T HET 3
@ 1,2,3,4
) 2, 1,3, 4

87. fr=fafaa o 3

(c) Tamra fom weom
@) T ¥ % =

88. ‘mre faeRte Werahier' freafafed w 9 foremnt
WY GEhih 7?2
(a) vor Heeht fearfa, st =1 1ot wd ui
i gL,
(b) Trefen, Sfrem weamen we RQaforer Syete
(c) e weamem, St Syerfen we i safi
Y
(d) HEEEITa, SUST ue uf st sl d.

SERIES : A
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‘siereTes’ ® HWag N Frefafad wmem § Q@ &F

-8 HYF T /87

I THH T 1985 @ SHer (Regsres)
¥ gg o

2. ‘emm 3R foerrE RO’ sisere gR W
) R

'mc'\a‘_
(a) »aa | (b) HIA 2
(c) 1 @ 2 gl @ a1 a2
ftr st -
megn ¥ e faefEt

TR 1 37ef eIl

? 4 59 um @ 9oy
T ¥ E?

) W Os wfufg
d) =g gfafa

2 TEEER, 1975 @ fFrfafan o o el
grfter Tredror e it Tomoe S @ S efi?

(a) TR (b) T

() T (d) T
Freafafea gt o faem =3

(et Tramor wfufa) (Trgr gt )
1. 3t gy - 1979
2. TR wihfd - 1993
3. Hl. URee g - 2012
I ¥ W A g it §87
(@ 1am2 (b) 2 T 3

(c) 1 @3 (d) 1,23
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DHYEYA SCHOSL OF COMPETIVION

94. The tool of Monetary Policy, which
directly affects the quantity of currency
is :
(a) Repo Rate
(b} Reverse Repo Rate
(c) Open Market Operations
(d) Cash Reserve Ratio

95. Pyramid of numbers in grassland
Ecosystem is :

(a) Upright
(b) Inverted
(c}) Both

{d) None of these

96. The handle of pressure cooker is made
of 'Ebonite' because :

(a) Ebonite is strong. .
(b) Ebonite is bad conductor of heat.
(c) No steam is dissipated by it.
(d) None of these.

97. Consider the following pairs :

1. Glober Salt -
2. Kelgon

matched ?
(a) 1and?2
b 1and3
(c) 2and3
(d) All of the above

98. Choose the correct statement regarding
Sustainable Development :

(a) It is related with Brundtland Report.

(b) In Earth Summit 1992, it was fully
supported under Agenda-21.

(c) Sustainable development was the
core theme of the Johannesburg
Conference 2002,

(@) All of the above statements are
correct.

SERIES:A
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99, Which one of the following pairs is not

correctly matched?
{National Park)

(a) Ntangki -

(b) Singalila -

(c) Betla -

(d) Tadoba -

(State)
Nagaland
West Bengal
Meghalaya

Maharashtra

100.Match List-I with List-II and choose the
correct answer with the help of given

codes:

List-II
(Scientist)

1. Leeuwenhoek

Discovery)

2. Domagk
! Robert Coach

N PN PO
-b»—‘r—-‘l\)u

st DW=

101.Which of the following is an example of
salt-crystal growth ?

(a) Chemical Weathering
{b) Physical Weathering
(c) Organic Weathering

(d) Biochemical weathering

102.The quantity of protein in human milk
is:
(a) 2.1 gram / 100 ml.
(b) 1.1 gram / 100 ml
{c) 3.1 gram /- 100 ml.
(d 4.1 gram / 100 ml.

P.T.O.
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EAE
E] DHYEYR SCHOOL OF COMPETITION
94. tifyer fifiy @1 a8 SURTUT AT HET i HET g99. frafefas Il & ¥ wiH-w uw udt yifew
W U ©Y § wwiHd e €, 9% 8- & 22
(a) MR (T I ) (=)
(b) T o =T . (a) TITHI - TS
() e A ) fvie - e ame
(d) &I & T ST g — L
95. urw ety uftds § we @ fuwfis g - (d) et - TR
(a) dren
(b) ITA 100. -1 ! gER-11 @ gafem =Y on A= Ry g
(c) = w2 F TR ¥ T SR gh-
(d) = @ wE T - geit-n
5 ' N /@) (ARTER )
96. ﬁmagm TEMEE’ AT BeeT R BleT &, .
) . BPTHE
(@) UaTEE AT Al ot e
(b) TEIEE FH F FHICH B
(c) TEY WY FT 1T T B forrena
(d) =9 9§ wE T
D
97. T zrai W fomm &i- 4 2
. T Ele - ¥ 2 i i
2. BEH o 4
> Sﬁq . Prefafes & 9 = @ waw frea gig =
H T AT 32
@ 1 32 @ o
(b) 1 3R 3 T
© 2 ¥k 3 (b) ¥ifeer ruaE
(d) Sudw ash (c) Siferr amaer
(d) & TEEtEs saeE
98. Taq faww & wed ® wer wyw -
(a) T W Feows o @ R 102. W@ & 9 ¥ WM ® AwT A -
(b) 1992 % ool I H WSIUST-21 o e (@ 2.1 7w gfa 100 fireh.
e g ol wmelw e fwan T frch
(c) 9 2002 % SerHer TrieH w1 ot fawa () L1 IITT-IEFF‘?TIOO '
e e o (©) 3.1 um wfq 100 faeh.
(d) IR G e T ) () 4.1 am wfg 100 fieh.
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DHYEYR SCHOOL OF COMPETITION

103.Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :
Assertion (A): The value of Chemical
Oxygen Demand is more than Biological
Oxygen Demand.
Reason (R): Biological Oxygen Demand is
the total measure of the total Oxygen
which is necessary for the oxidation of total
organic substances (biodegradable and non
biodegradable) present in the water.
Select the correct answer using the codes
given below :
Code:
(a) Both (A) and (R) are correct, (R} is the

correct explariation of (A).
(b) Both (A) and (R) are correct but (R) is
not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.
(d) (A) is incorrect but (R} is correct

104.Match List-1 with List-II and ch

correct answer with the help of g

List-I List-1I
{Compound)

A) Zinc Sulphide 1.

B) Zinc Oxideg
C) Sodium B
Carbonate
D) Iodine
Code:
A
(a) 2
(b) 1
(c) 4
d 3

H W N -~
-~ N W wea

D
4
4
1
2

105. Why Potassium Permanganate is used
to purify the water ?
(a) It kills the germs.
(b} It dissolves impurities.
{c) It is a reducing agent

(d) It is an oxidizer.

SERIES:A
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106. Given below are two statements, one is
labelled as Assertion (A} and other as
Reason (R) :
Assertion (A): The dispersion of red colour
is least.
Reason (R): Wavelength of red colour is
maximum.
Select the correct answer using the codes
given below :
Code:
(a} Both (A} and (R) are correct, (R) is the
correct explanation of (A).
{b) Both (A) and (R) are correct but (R) is
orrect explanation of (A).

but (R) is incorrect.

Water Vapour

.Find out the missing number in the
following table ?

9 [ 4 |20
8 | 5 |12
7 |6 |?
(a) 2 (b) 4
(c) 6 @ 8

109. A monkey climbs on a slippery 16 m high
pole. If he climbs 1 m. in 1 minute and
slides down 1/4 m in the next minute, he
will reach the top of the pole in?

(a) 30 minutes

(b) 32 minutes

() 36 minutes

(d) None of the above

P.T.O.
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103. 9 7 wem Ry u ¥, 5 © T At AR
(A) @R T H HRO (R) FE1 TN -
afireram (A): TeEfTE SEsE 90 (Cop)
H1 T g stfedsm 1t 9 i g6 8
WHRUT (R): e oS win Her stferdier
F T £ S s W Sufterd s et waret
(S wEeRT aUT W SFTHN) B SERAHT
% foru arerver 2

9 Ry T HE T WE W H/ I wIC-

He:

@) (A) 99 (R) 2 & & e (R), (A) F wH
S 3l B

(b) (A) T (R) & W& € fR=g (R). (A) ®1
e e e W R

(¢) (A) ¥& & W (R) Terd B

(d) (A) T § 9 (R) W& R

104, FEI-1 ! P11 § Ao 3 aen = f
e I TR ¥ WE SW gHe-

A B CD
@ 2 1 3 4
) 1 2 3 4
c 4 3 2 1
@ 3 4 1 2

105. ST W I6E wN o Forw M forem weie
T IUATT A TR s 87
(a) T M T W
(b) UE STURSH (SRIEasT) ) sl o 2
(c) T8 T TUER
(d) T TH FFdRRE 2
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106. = T we ey 7w €, T @ wem =) srfusmen
(A) 3K @ FO (R) H& T B-
AFTRST (A): e 1 1 ol fagivur ged w1
B 2
WIUT (R): W6 7 k1 a0Teed walferes e g
= e Tz @ W IW H WA wif-
wme:

(@) (A) T (R) S T ® el (R), (A) 1 T
S Hl B
(b) (A) T (R) = W ¥ R (R), (A) F
w& s 8w B
? W (R) T R
& W (R) WE R

(@ 2 (b) 4
(c) 6 (d) 8

109. T oaY fordl TRUeFER 16 W, o @
T wrgar §1 4% g 1 e § 1 . wew & aw
et Tz § 1/4 W, fpge s 8, @ o T
P el U UgEnn -

(@) 30 fome o

() 32 fre ¥ |

(c) 36 fase ®

(d) SWF § F g T2
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THYETR 2CHADL OF COMPETFTION

110.In a code language SISTER and CAR are
written 212345 and 765 respectively. In
the same language 655423 will be the
code of which one of the following?

(a) ARREST (b) ASRERT
{c) ASSERT {d} None of the above

111.The missing letters in the following
letter series are in the order :

ab__a__b__cb

(a} bcbebb ()
{c) cbbcab

abcabc

{d) accacc

112.In a row P is standing on 10th position from
the left and Q is standing on 12th position
from the right. If P and Q interchange their
positions then P becomes 18th from the
left. Apart from P and Q, the number of
other people in the row is :
(a) 29 by 27
(c) 26 d 24

113.0n tossing a normal

5

(a) 36
1
" {c) 1

114.The sum of two numbe

is the larger number among
(&) 5 ) 7
() 9 @ 11

115. A cube is divided into A, B, C and D in such
a way that A and B get in the ratio 3 : 5, B
and C get in the ratio 6 : 7 and C and D get
in the ratio 8 : 9. The ratio of the shares
received by A and D is :

(a) 36:35 (b) 19: 21
(c) 33:37 d 16:35
SERIES : A
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116. Arrange the following in logical order
and choose the correct answer using the
code given below :

1. Rectangle 2. Line
3. Triangle 4. Point
5. Angle

Code :

(a) 4,2,3,1,5
b) 4,2,5,3,1
() 1,3,5,4,2
d 1,3,4,5,2

117.Wh, tter will come in place of

ark (?) in the following?

rirl is the wife of my
on.” How is Arun related

{(b) Husband

{d Father-in-law

hich one of the following is different
from others ?

(a}) CHM (b) DIN

(c) LPU (d) KOT

.Bis twice as old as A but halfas old as F. C
is half as old as A but twice as old as D.
Which two people have the maximum
and minimum age?

(a) Fand A (b) FandD

{c) Fand B (d FandC

121.After the joining of 5 new member
countries in BRICS organization in
January-2024, now the number of member
countries in this organization has become:

(a) 11 ' (b) 10
(c) 12 d 8

P.T.O.
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110. et e W & SISTER #iR CAR %1 FH:
212345 iR 765 foren sl €, A SE wmar
655423 Frfafaa ¥ ¥ fousr 5T gm?
(a) ARREST
(b) ASRERT
(c) ASSERT

(d) STgF ¥ | FIg T

111, Tretfefen sar ooft & o otew ww & &
ab_ _a b__cb

(a) bcbcbb (b) abcabc

(c) cbbcab (d) accacc

112. e ufer o P o @ 109 qen Q T | 129
W T WS B A P #K Q ST M TWER
e of A Pad @ 1881 B Sl 21 P o}

@ 29
) 26

b) 27
d) 24

113. TH UHE 99 & 9]
9 T e
S
1
(c) 1

114. <) et =1 AT 10 gon
21 I # ot dem e ur f
@ 5 . (b) 7
©) 9 @ 11

=T 40

115, T ¥H A, B, C 3K D ¥ 39 y&R sz 740 fF

DHYEYA SCHO0L OF COMPETTION

1e. Trefafea = wifeer e O safem wifwg

3R 9 A T oz 9w sw A
. 3| 2. @

3. fags 4. Tag

5. IOy

hHe:

-

A o W
o B W —
[ SRR S

~

17.

99 o (?) & WE W B
7

T
R
@}{
o et T e @ i A
T 3G ASHI QT waYg §?
(by Hfa &1
el (d) TG H

7 frafofes & @ @m-wr e @ R 27
(@) CHM (b) DIN
(c) LPU (d) KOT

. B ST AT AT, fRg F 9 et 2 ¢, A
I Y 1 31§ g D @ < g 21w

¥ & T ik TE A oI |y 87
(@) F3RA () FeRD
(c) F3R B ) F3iRc

121, SFE-2024 ¥ Toremr @@ § 5 W@ ww v

AdRB3:5% s ¥, BN C6:7F wftaferm 89 & uvend o 59 |9e ¥ aee
ST @ R C 3R D 8+ 93 s & W v Y wem B T -
AWD@'W%WWWW%‘ @@ 11 () 10
(@) 36 : 35 b) 19 : 21 ) 12 ' @ 8
(cy 33 :37 (dy 16 : 35
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CHYEVA SCHB01 OF COMPEVITION

122.Which of the following Indian states
became the first state in India to launch
Regenerative Tourism in January-2024?

(b)
(d)

(a) Kerala Goa

(c) Karnataka Gujarat

123.Recently, which of the following metros
became the first metro service in the
country to be available on Open Network

for Digital Commerce?

(a) Delhi Metro (b)
(c) Chennai Metro (d)

Lucknow Metro
Kolkata Metro

124.Who among the following was announced
to be awarded Vishva Bharati Award by
Uttar Pradesh Sanskrit Sansthan in
February-2024°?
(a) Prof. Rahas Bihari Dwivedi
(b) Prof. Gajraj Mishra
(c) Shri Bhagwan Singh
(d) Pandit Rampratap Sharma

125. Which of the following Indi
became the first state in India
‘Uniform Civil Code’ C
February 2024°?

- {a) Assam
{¢) Madhya P

126. In January 202

Environment Ministe
the number of highly re

logged Ramsar sites in th ntry has
become-

(a) 85 b) 75

{c) 80 (d) 90

127.In January 2024, who among the following
attended the 75th Republic Day
celebrations as the chief guest?
(a)
(b)

Emmanuel Macron -
Justin Trudeau

(c) Joe Biden
{d) Olaf Scholz
SERIES : A Page No.

ExEE
@
128.In January 2024, which of the following
languages was announced to be included
as a classical language under the new
education policy by External Affairs
Minister S. Jaishankar?
(a) (b)
(c) Maithili {d)

Urdu

Konkani

Persian

129.In February 2024, the foundation stone
of 'Talabara Thermal Power Project' was
laid by Prime Minister Narendra Modi

in?

nbalpur (Odisha)

Ahmedabad
Vadodara

2024, which of the following
cies was declared the world's

réngest currency by the famous

usiness magazine Forbes?
(b)
(d)

{a) Omani Rial Euro

(c) British pound Kuwaiti Dinar

132. According to ‘Brand Finance Report-2024’
in January 2024, which one of the
following IT services brands became the

world's most valuable brand?
(a) T.C.S. (b)

(c) Accenture {d)

Wipro
HCL Tech

133.Which of the following cities of Uttar
Pradesh was recognized as 'Water
Warrior' city by the Department of Water
Resources, River Development and
Ganga Rejuvenation in February 2024?
(b)
(d)

{a) Varanasi
{c) Noida

Prayagraj

Bijnor

30 P.T.O.
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122. SHEd-2024 ¥ Freifafed § § HE-W AR
T Rttt wele Y i oI TR B IEe

T 9917
(@) wTA (b) e
(c) THARH (d)

123. Tre & ¥ Frefeifoa § @ wi-d B2y o0
Feaa v fefvee wmd uw Sueey e ot

29 1 UgS Wer VAT &9 TE?
(a) feoet wt (b) TETS B
(c) == A (d) S B2

124. wTEd-2024 ¥ Frefafed o @ frd o0 W@
Hgha e g favg Ot TR usH
A HI SO Y 2
a) . ®F faerd e
(b) . TS s
(c) ot warm fHE
(d) e Tawara wmat

125. weEd 2024 H fr=fafea
HH-T T gt

UTH T e
(a) H&H
(c) W& TR

126. SFEd 2024 o &

127. S0 2024 ¥ 758 wordy fraw gurE o

DHYEYA SCHOOL OF COMPETITHIN

128. SFedl 2024 H ¢ foran +ifg & dga Fefafea
¥ 4§ few amor @ e awr & %Y o
B W E?
(a) R
(c) Hfereft

(b) 5%
(d) <himoft

129. FEH 2024 T FUEEH g W& gRT “AIETaRT
oot UfaT e’ @Y arenefren Wl Wi
8
(@) HIAR (hfewm)

wfiqz 2024 F1

(b) FTEHEER
(d) TEIgT
% UTireRT wIsH gRT SHAd 2024
W@aﬁﬁs@g&raﬁﬁwaﬁm
S e =it feran?
(a) STEr e b) T
) Tafew u=e d) = AR

. SHEd 2024 H ‘ot wrgAw RUE-2024" @
FTER Frefoafad & § -9 UF Tget dar

s fava = oW YeIa wg §r?
) ST, () fam
(c) TR d) TEHUE 3%

133. HE 2024 § W1 wETeE W€t faewra wg
ot fquTT g SW WY % fefaftea § 9

Proafafen # & o ger aifafy & w0 ¥ fFa wET W ‘St g’ W‘%mﬁ
gftmfer gu? urear & w7 -
() TICE FEA (b) S 72 (a) SRIUTER (b) TERRIS
(c) S amgeA (d) ATE WhTS (c) e @ fasER
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UHYEYA $GHO9L OF COMPETITION
134.In Jan.-2024, which country's Parliament
approved the Deep Sea Mining Bill?
(a) UK
(b) Norway
(c) Finland
(d) Iceland

135.1India's rank in the Democracy Index-
2023 released by The Economic
Intelligence Unit in February-2024 was :
(a) 41st (b) 40th
(c) 42nd (d) 45th

136. Which country along with India announced
the ‘Green Fuels Alliance India’ (GFAI)
initiative at the Global Investors Meet
(GIM) 2024 in January 20247
(a) Denmark
(b) Canada
(c) Australia

(d) New Zealand

137.Nominations were file
under the ‘Wetla
Scheme’ by t
Environmen
January 202
following cities

(a) Indore
{b) Bhopal
(c}. Udaipur
(d) Kolkata

138.In February 2024, a scientific programme
' dedicated to students ‘Yuvika 2024’ was
organized by :
(a)} ISRO
(b) DRDO
(¢) Ministry of Education
(d) Ministry of Science

SERIES:A
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139.Which one of the following pairs is
correctly matched?

(Person) (Appointment)

(a) Senthil Pandian- Ambassador, WTO

(b) Sameer Shah - Chairman, BBC

(¢) Rashmi Shukla - First woman DGP,
Maharashtra

(d) All of the above

140.In Feb. 2024, the ‘World Government
Summit-2024’ was organized in?

P.T.O.
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134. SFEf-2024 § FFE 20 H TES 5N WG W@
i argt Presterm (S0 d@ wehT ) fades
I T wEH 2
(@) T
(b) T
(c) ﬁﬁ?ﬁ@
(d) FEENE

135. BeEl-2024 ¥ g gwMitHen gefomi| gie
T S0 cliehdT Yelhich-2023 W WA AT
HE TEl-
(a) 419t
(c) 4281

(b) 408T
(d) 458t

136. SFE-2024 T TolEr FRREH T (SeTETE )
2024 ¥ 59 29 7 9ra & Wy ooy 9w

137. SHEd-2024 | =Y

138. HE(-2024 H BE * it Axtie wedw
“Ffaert 2024’ =1 T e -
(@) T B
(b) EIET g
(c) Toan #9e™ g0
(d) To=m wAEE g}
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139, Frefafad gl & -a1 T w@t gafea €2

(=afe) (Tgfe)
(a) wfer uifezm - USEA, WTO
(b) G I - =, BBC
(c) Wew gaen - vy #iEen
TISdt, TN
(d) ST g
140. HEQ 2024 W ‘G TERHE WiHE-2024" HT
arare el ) fa e
(@) 3 H
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EXPLANATORY ANSWERS

1. Ans- (c)
W Y W UH ® fou Bie Seige w1 v fw s @1

Ferric Chloride is used to stop blood flow.

2. Ans- (a)
Afgme (A) a¥1 HRU (R) I W & a1 FRW (R), swRUR (a) # G e w@
F ® el § el s foemn sm & w=ifE 3ve Rl o w0 A H fae v fEar s E
Assertion (A) and Reason (R} both are correct and Reason (R) is explanation of Assertion (A).
Ethylene glycol is added to the radiators of cars because educe the freezing point in cold
countries.

3. Ans— (b)
mﬁmmmmﬁwﬁuﬁ{%m@

Photochromatic glass automatically darkens in

4. Ans- (d)
sifirwer (A) 7o 8 weg IO (R)
o TR W e S % T
Assertion (A} is wrong but Reason
Gold sinks in mercury because th

(behaving as b6

6.  Ans- (b) _
TR R I A el iR

The kidneys maintain the and electrolytes throughout the body.

7. Ans- (c)
AT qu SRGIT S A TR TER BT wRa Bl 31 e § ag Serrdiusis qen simeAe ¥ wgels A 9 S
ST 2
Both DNA and RNA contain pentose type of sugar. In DNA it is known as deoxyribose and in RNA it is known
as ribose.
8 Ans- (d)
wE gha -
( arrfeEssTT ) ( arferssne )
. GEETE - T
. Jerifen - —(QE;H B
° e - AR
The correct match is :
{(Invention) (Inventor)
. Insulin - Banting
SERIES : A Page No. 1 RO-Pre2023-1I1-Test5
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. Sulfa Drugs - Domangk
' Bacteria - Leuven Hawk
° Antigen - Landsteiner
9. Ans- (a)
ITARR o Sfau B ¥ S et diem Wi s (R W) stemr s Sauial # W ww w9 3 59 9w
Gt SuRIST § URart Tor W S 81 919 weE-1 O )
W Sl SuieRe @ sl ofaud o ¥ W wafre e e v del @ oo e T w4 wwEd
B ¥ S W, g, o, WO, feeg, TE oW weR-2 we T R
Consumers are those organisms that obtain their food by eating primary products (green plants) or other
organisms. Thus, heterotroph characteristics are found in all consumers. Hence statement-1 is correct.
The first category of consumers includes living organisms which obtain their food from primary producers or
green plants. They are vegetarian. Example- cow, goat, deer, rabbit, grasshopper, rat. Hence statement-2 is
not correct.
10. Ans- (c)
iRt @ | Sy R W de @ wE § wefie Sered Td omHeR W e i e 3, wine
uitfeefaes o & Sfaw wewl § wdw R W mufrs sans ¥ ok W egEEE ¥ sydeel w1 sufeufy
o srqufeerfa ¥ 37 firaell o R erm W@ v R
Primary producers and decomposers play a special role in 4 d cycling of nutrients in the
ecosystem, because the biological components of the ec ucers at the entrance and
decomposers at the exit. The presence or absence of much difference in these
activities.
. Ans- (d)
1971 % @ % W e W syt @ wam 1975 H @] g8 WA
1982 ® TOd wnfier gam
In 1971, an intergovernmental confers s held in Ramsar City, Iran.
This agreement came into force in
12, Ans- (c)
wE e -
(T 3ET)
. ot o
o fm e
¢« TEX
. NUIL ]
The correct mat&d
(National
. Hemis High
. Pin Valley
) Mukundra Hills
° Gugamal
13. Ans- (b)
2003 4 WECH (CITES) % Iefid WileM (COP) §WI W (MIKE) T el & geam TS ITH! 3TAY T H
el JFY B fa <o ot @ W Ny Fea mnoem
In 2003, the MIKE programme was launched by the Conference of Parties (COP) of CITES in the countries of
South Asia to conserve elephants and stop their illegal killing.
14. Ans- (a)
s St g fawe w1 wed e o woa ¥ S sfr o @ SAeen o Rem
Angel Falls is the highest waterfall in the world. Which is situated in Venezuela, South America.
15. Ans~ (b)
e g #-
(wETeEt) (srafrafa)
. AHT - TS
. HTATET - EIRSCIEH
o . WARA - TR T IWAHT
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o firsa - Fireferm
The correct match is :
(Desert) (Location)
] Nafud - Saudi Arabia
. Kalahari - Botswana
. Sonoran - USA
. Gibson - Australia
16. Ans— (b)
FO-1 AR FA-3 T T YW T W goEel & 0 wREeEd wrivie €1 adt v S w8 el el w5 o
g HermH A4 R

Statement-1 and Statement-3 are correct. Tulbul and Uri projects are operational on Jhelum river. Tawi River
is a major left tributary of Chenab River.

17. Ans-— (b)

we gAa B-

( rsTfe ) (3w)
o - weiferan
N j o

. T
. A - wgielve

The correct match is :

{Tribe) {Country)
. Semang - Malaysia
° Highlanders - Scotland
° Atos - Philippines;,
. Maori - New Zeals

18.  Ans- (d)
sfiepem (A) e ® WY HRO (R
wafer gfoll W9 F gt @ ot

Levanter is a very pow ing e in southern Spain.

19.  Ans- (d)

sEHed o o g ¥ fafos sigfa =) e o0 walfa %
g erEa

There is abun 1 in the ionosphere. Radio waves of different frequencies
are reflected in th € ionosphere is divided into many layers.

20. Ans~- (b)

(vg@ =)
[} ﬁ‘fﬂ?"@ A
. e, = - ITTEE WY
. e - Taferrn
. ™ = - 'qﬁTTEI,T
The correct match is :

(Major Passes) {Location)
. Lipulekh - Uttarakhand
. Diphu Pass - Arunachal Pradesh
° Nathu La - Sikkim
. Tuju Pass - Manipur

21. Ans- (d)
g faedt 9/, wiK), WE, T 3R %1 % Od & fou agd Sugw e 81

Laterite soil is very suitable for the cultivation of tea, coffee, rubber, espresso and cashew nuts.

22, Ans— (b)
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3UE FREeE 1 T e ¥ 9w 8 2 e o sern €, St ger wmen | frerd-sert 81w fRe g e
it g we gafea €

23.

24,

25.

26.

27.

28.

Oraon is one of the major tribes of Jharkhand. They speak Kurukh language, which is similar to Munda
language. All other pairs mentioned in the question are correctly matched.

(WE &%) (arafeerfa )
a9 RIS
THARI - TSI

T - SW Wy
FHIH IR - RS

The correct match is :

(Major Centres) (Location)
Tarapur - Maharashtra
Rawatbhata - Rajasthan
Narora - Uttar Pradesh
Kakrapara - Gujarat

Ans- (c)

Tl YR SRR, SR a9 G B 9l o, et
? fomd S wl &1 FH B |1 T 9w A sem ol = g
Parwa soil is found in the coastal areas of Hamirpur, ! i in the ravines. It is a
light red-brown sandy-loamy scil which lacks organic e

Ans— (c)
ARE % 16 HESFUS | @ § TAR T W IR 3Rk afian & sre-urw
ol
Of the 16 Mahajanapadas of India, p Pradesh. Malla Mahajanapada was
expanded around present day Kus ¢

Ans- (b)
¥ 1924 ¥ wEQRH ¢
SR em 3y 1928
‘Hindustan R Kanpur in the year 1924. Its commander was
Chandrashek n the year 1928, the name of this association was
changed to ‘H

J9 GER

- WA
ERHCIE I - HHEA

The correct match is :

(Litterateur) (Composition)

Keshavdas - Ramchandrika

Lallu Lal - Prem Sagar

Maithili Sharan Gupta - Bharat-Bharti

Jaishankar Prasad - Kamayani

&
1
9

Ans- (b)

. FHiTe TR - FREEE

. WA WEE - W8

e e T s g we et €
° Kampil Festival - Farrukhabad
. Sardhana Festival — Meerut
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All other pairs mentioned in the question are correctly matched.

29, Ans- (a)
w favga TRl st sl witfeafa @ R faety yar @ Ye-dlY qen sha-vrg 9 o ¥, amm weem 2
et W #t wgE ol B U W SEHE AW T s ¥R o e R e e

An extensive terrestrial or aquatic ecosystem in which specific types of plants ‘and animals are found is called
biome. A biome is named based on its dominant vegetation. No biomes are alike.

30. Ans- (b)

e goa 2-

(T SEE) (=)
o T UHT IEE S C A
o R Uy wum - B
o AHEE UHA SUH - AR
o  WEH WEER T SUM - e
The correct match is :

(National Parks) (State)
. Marine National Park - Gujarat
. Periyar National Park - Kerala
. Nokrek National Park - Meghalayg
. Bhagwan Mahavir National Park - Goa

31. Ans- (a)

(wreroT gt )
. TRF o el -
. W T
o YR H

The correct match is :

(Conservation Project)
Project Red Panda
Project Vulture
Project Great Indj
Project Cheete

32.  Ans- (a) ' ' '
TIfewET ® W TteReT, 99 IR STy uieds waer BRI uh A 5 et

N

33.  Ans- (b)

& ghd T
(i wifa) (%)
. LS - m e
. K14l ~ favmer faard
. reft - W e
. T S
The correct match is :
(Agricultural Revolution) (Originator)
. Silver - Indira Gandhi
° Red - Vishal Tiwari
. Yellow - Sam Pitroda
) Pink - Durgesh Patel

34, Ans- (c)
sfrrer (A) W& ® freg RO (R) TE@ R
e TR % fog wem A s vl # aifafta faafe o o gaw wen § o onevas ot 81 faafe et e T
W, AR I TR Wl F grawer T wE swE & e w)
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Assertion (A) is correct but Reason (R) is wrong.
For a healthy body, apart from other substances, it is also necessary to have vitamins in subtle quantities in
the food. Vitamins do not provide energy, but control the synthesis and proper use of other fuel substances.

35. Ans-— (c)
e yher 8-
(&wet) (T 9y )
. Faerer EiELE]
. IR we fufa
° ﬁé “{W‘zﬁq
. R ElECIC]

The correct match is :

(Fruit)

{Edible Part)

. Water Chestnut Cotyledons

. Custard Apple Fruit wall

. Wheat Endosperm

. Pomegranate Aril

36. Ans- (c)

(Frerma ) ( srafeufa)
foe oma W U YA & F A

. T qeTE Tl T ATE T % A
{(Doab) {Location)

. Bist Doab Between Beas and Sutl

37. Ans— (a)

The correct match i

38. Ans— (a)
AR (A) T U (R
T e Jueres 9 H T

Assertion (A) and Reason (R} bo

Custard Apple

Between Ravi

FRU (R), ATHF (A) H T8 =M F@ e

Kaveri etc. have cut it at many places.

39. Ans- (a)

& g 2-

(=t (T )
. S o
. A Exin
. g EIS|
. TECRAT T
The correct match is :

(Soil) (Crop)
. Alluvial Paddy
° Black Cotton
. Laterite Cashew
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] Desert Soil - Tide

40. Ans— (d)
Wi Ffy w nfen ywr B B T Red e el v oo w wews 3R wen fen s § ok ww ww
F RN 9 B [ STl ¥ IR e 9 W@ ks 2
Shifting agriculture is a primitive type of agriculture in which trees and vegetation are first cut and burned
and a cleared land is plowed with old equipment and seeds are sown.

41. Ans-— (c)
we gad B-
(39r) (T )
. EiRCCIE - TERA
. Eanin - TR
. I -~ HAFHRU
. wHfern - et
{Country) (Capital)
. Botswana - Gaborone
(] Comoros - Moroni
. Ghana - Accra
° Libya - Tripoli

42, Ans- (c)
FrafEa 7 T W9 sl % U v § e o

The Columbia River originates from the Rocky i to the Pacific Ocean.

43. Ans— (d)
27 SEEY 1986 I U SiemEi-1 %Y 5
Ster -t v gt wd @ #,
National Waterway-1 was announce

between Prayagraj and Haldia is u
waterway is 1620 km.

U efmw & ey w1 Uy

t waterway of India. This waterway
ghly river system. The length of this

44, Ans- (b)
wE gha -

(St

(Water Fall)

. Mahatma Gandhi avati River

. Gautamdhara ru River

) Hundru - ubarnarekha River
. Chulia - Chambal River

45, Ans— (d)
a-7Er T s & wad W F 18,000 Wie F FOE W fom 31 S Y wew S o 21 e @ B s
T A R R R IR T AR e ¥ sqmfi 9
Cho-Lhamu Lake is situated in the northern part of Sikkim at an altitude of 18,000 feet. Which is the highest
lake of India. Tista river originates from this lake. Adyar River originates from Chembarambakkam Lake.

46. Ans- (d)
FEE Wl I € F ued W ® e fage O v fofen g Refer’ SR weRE w1 wga ge )
Buddhaghosa was a great scholar of Pali language of the fifth century AD. His written book Vishuddhimagga’
is the main book of Hinayana sect. i

47.  Ans- (c)
'\?maﬁa%fﬂt?«l‘%"—m@h,mmawmmawﬁﬁmﬁmwﬁww%lmm
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1 Aead uE werEdl @ oTuer o f1 uu Wemm §- 1. oW, 2. we, 3. oTRM, 4. IfUE, 5. werEd
The three jewels of Jainism are - Samyagdarshana, Samyagjnana and Samyakcharitra. Belief in truth has
been called Samyagdarshana. Samyakcharitra means compliance with the five Mahavratas. The five Mahavratas

are- 1. Ahimsa, 2. Truth, 3. Asteya, 4. Aparigraha, 5. Celibacy (Brahmacharya).

48, Ans— (b)

g B

(aremer) (fawm)
o SRR @ e
. queTeae e faar
. Eaz it T W S
. LB A g
The correct match is :

(Head) (Department)
. Akaradhyaksha Mines Dept.
. Panyadhyaksha Commerce Dept.
° Kupyadhyaksha Head of Forests
. Mudradhyaksha Passport Dept.

& Nitin-Gupta.com

49. Ans- (c)

w gher -

(V@ ) (=)
. TGN - gfamn
° ! - e
o Hea - g mE
. ST - T WW

The correct match is :
(Major Sites)
Bhagwanpura -
Kuntasi -
Sanghol
Alamgirpur

50. Ans~ (b)
o fear foa
Kunal is a sites
and R.S. Bisht%

1960 € ¥ S winfl ok sy, fase § #1 oh

n Hisar district, which was discovered by G.P. Joshi

51. Ans- (a)
g fau e sfHeEme |

Assertion (A) and Reason (R}
of Assertion (A).

| we € qu wRO (R), SfUEeM (A) # W =en R

¢d in the question are correct and Reason (R) is the correct explanation

52. Ans— (a)
STrEAfy 1 G B 8 waRE gemRsh, e e gen Pt s @ fraf ool g w5 e

Vice President is elected while Prime Minister, Governor and Chief Election Commissioner are appointed by
the President.

53. Ans- (c)
3131773?227ﬁaﬁamwﬁwﬂwwmauﬁmwﬁﬁﬁmwﬂ?ﬁmﬁmtﬁmﬁm
wifyg fan T .
Superintending power of High Court on the Subordinate Courts mentioned in the article 227, has been
declared inviolable fundamental structure in Keshvanand Bharati Case.

54.  Ans- (d)
ghaum B SR 243(9) ¥ wedw verE ¥ orgfaa il qen sriyfEn Srenfl % few smemr WY wrewen ®t W
Rl
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Under Article 243 (D) of the constitution, the provisions has been made for the arrangement of reservation of
. schedule caste and schedule tribes in every Panchayat.

55.  Ans- (a)
T faum TR & 1/6 S & WU g Aifha e S 1 o et e e #

1/6th Members of State Legislative Council are nominated by Governor. All other statements are correct.

56. Ans-~ (c)
ey o et g wrffET W FrEm w T € U g T W SRy ol S 81 e e, fe g,
sAfevarg wwE oy faufawt g FrRiwfam | feem @ mem f)
In a democracy, the legislature’s control over the executive curbs each other. Questioning, condemnation
motion and no confidence motions etc. are the means of control of legislature over executive.

57. Ans— (d)
T U e A wed we € wfaem ® orssk 315 % errla oe ® fag ‘ot Qen s’ qen o ) fae ‘s
Wi Fa A’ w1 wEaE e e )
All the three statements mentioned in the question are correct. U
of Union Public Service Commission has been made for the
Service Commission’ has been made.

le 315 of the constitution provision
. states provision of ‘State Public

58. Ans— (b)
A wigum ww A w5w 15 wfeend o) R
1. gaa guart, 2. fasaasdl wfed, 3. uawy
6. i T, 7. St g, 8. wW WEdl, 9. wuW wuE
THA, 14, I WHAIA, 15, A SJAREA
There were total 15 women in Indian
1. Sucheta Kripalani, 2. Vijai
5. Poornima Banerjee, 6. Leela Rai { ¢
11. Malti Chaudhary, 12. Annie Ma : hmu Swaminathan, 15. Dakshayani
Velayudhan

5. gfofar g,
TEROT, 13, W T

‘tfollows:
aur, 4. Sarojini Naidu,

59. Ans- (c) :
frft wmfa # o' o H YR W 423 Wiaur g 1976 51 W
4-F (TR 51- ‘ ' :
There are no fuy 2 ivate dperty. On the recommendations of Swarna Singh
Committee, p en made by adding Part 4-A (Article 51-A) by 42nd
Constitutional

60. Ans- (a)
ad A SEFEE 1919 3
TN HP T B A
By the Government of India Ac
Under it, certain powers were giv

TR TR W e w1 v e utwEl Faifae aer w

partially Responsible Governments in the provinces were established.
to elected government and certain powers were given to the Governors.

61. Ans- (a)
qRdid GfUE @ STEER 118(4) ® STIER, WU ® A WAl Bl WA oW w1 Sreverdl elwyWl eyl w8 o
EIT 108 | WUR & wYE SIfAYE w1 Suey fE w3
According to the Article 118(4) of Indian Constitution, Speaker of Lok Sabha presides the joint meeting of both

the houses of the Parliament and the provision of Joint Session of the Parliament has been made in the
Article 108. )

62. Ans-— (c)
eRfal fredt s W 4 frenfas werdt & W et SRt 21 9% W W B ® o swgee @1 sterenfan ) @ RER
S Al fed g wee 1
Tertiary Soil is found in the Shivalik Mountain regions of U.P. This is suitable for Tea Farming. The soil
found on the coasts of waterlogged river is called ‘Dhooh’.
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63. Ans— (b)
fefemma st - SefaE-tE
EEAL T - HATST
sfafer - ifafe
Titikaka Lake - Bolivia-Peru
Reindeer - Canada
Boiling - Dominica
64. Ans- (d)
SFTEE e S Te HYER W W a1 srw o wdt gafm R
Jaansar Lake is situated in Jammu and Kashmir. All other are correctly matched.
65. Ans- (b)
el w1 YSR SRiEER aon foreg ot & wey feew R
Plateau of Malwa is situated between Arawali and Vindhya range.
66. Ans- (a)
29 gl temnt fova ®1 weR o Yemn R0 w9 qfven He dedat # yd e qeerR
% qe W fem srdiees § e 2
Trans Siberian Railway is the longest rail track of the wog ersburg located in the west
of Eurasia Continent and Vladivostok located on coasts, .
67. Ans- (c)
Hel w1 oM =EievE H gal SIS eE 2
Canterbury plains is the most fertile plain 4 main yield of it.
68. Ans— (a)
s, fieve ol weeHa- fre ‘ T sifuw T %
Belgium, Netherlands and Luxem 2 ies because their height from seal
level is not much.
69. Ans- (b) :
‘& wfw ugh' & % w9 ¥ Wl @ S 2
Under ‘Ley Farmip w in the form of Pasture for 2 or more years.
70. Ans- (d)
(T W&
REicae]
STRFT
qarart
{(Warm water source)
Manikaran - Himachal Pradesh
Anhoni - Madhya Pradesh
Taptapani - Odisha
7. Ans- (c)
o g @
(ura & Har) (&)
Bearg - opSH afed
TRATS - STHTRT
AR - SR
A - EER G|
The correct match is :
(Grasslands) {Region)
Selvas - Amazon Basin
Parkland - Africa
Downs - Australia
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Lanos - Venezuela

72, Ans- (a)
e Aer 4w <t fr gl ® W gl @ @ we-uy wgg ¥ vae fufy €, sdfiedive o stafem i
Great Barrier Reef, which is a coral reef in the sea along the north eastern coast of Australia, is situated in
Queensland.

73. Ans~ (c)
IS T qemet! arsf ol TR 1498 € H Wil § o0 SR AT A 1502 € H arenifem e G WRa ST
1503 €. W ydmfer ® wEE ¥ yuw b wonfya w5t )
Vasco da Gama was a Portuguese traveler. He landed its ship fleet at Calicut in 1498 AD. Vasco da Gama
traveled to India again in 1502 AD. The first Portuguese factory was established in Cochin in 1503 AD.

74. Ans— (c)
srensed et & SmrE wfers $THR 3 W g % fasm w1 ool onfk wwl v st wfos wfa
‘gog-s-ge’ W TR R
Amir Khusro has described the victory of Malik Kafur, the com uddin Khilji over Chola Empire in
his famous book Khazain-ul-futuh’. i

73. Ans— (b)
TSTAqA A IO A gard R W ¥ frae-se-twen’
Ibn Battuta had mantioned his Travelogue in Kitab-ul in Arabic

76. Ans— (a)
o wret eifufrm-1850"" § wrERen o J %1 STURHEFT wF ST
In the ¢ Lex Loci Act of 1850’ there w converted to Christian from
Hindu religion will be considered a

77. Ans- (b)
Ry T w9 #3179 : feran =9 1931-1936 & % YRGB TR
RS T AERREE B T ‘ : fodia e A W %1 emEreH faeelt ¥ gem
Lord Willingdon had i ational Congress (Bombay, 1915). He worked
as the Governor i 1936 AD. Second Round Table Conference was
organised in De ' '

78. Ans~ (d)
e e e gt 3
All of the pairs mentio correctly matched.

79. Ans- (a)
g ud & SR e | 16 oot e 1 WEeFUR Q) WER & 9 i, wnd, el v, 9, aw,
wE, Ui, 96, YRaE, orafa e TE FHES oEAs W 9 Safn afssr T Heer o 9 TWeRT SUEE I
B A B MU SIS WH G0 Bk ol
The mention of 16 Mahajanpadas is found in the Anguttara Nikaya of Buddhism. Mahajanpadas were of two
types. Anga, Magadha, Kashi, Koshal, Chedi, Vatsa, Kuru, Panchal, Matsya, Shoorsen, Avanti, Gandhara and
Kamboja were Monarchical states while Vajji and Malla were republics, these were ruled by the Gana or
Sangha not by King.

80. Ans- (c)
BTG WE SHET HT AhQ, VF H fem 1 o wd we gafem R
Tomb of Bahadurshah Zafar is situated in Rangoon. All others are correctly matched.

81. Ans~ (d)
qd AT Tl W R w1 vem %, ‘Y e fegga’ o
The first Indian Bank based on European Banking System was ‘Bank of Hindustan’.
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82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

Ans— (d)
“ER-T-E ® AEE S A R S
The author of ‘Ghubar-e-Khatir’ is Abul Kalam Azad.

Ans— (d)
Wﬁqvﬁwﬁmmﬁmmﬁﬁwﬁumﬁwﬁwmmaﬁg%;

Maranmurti of woman was a special feature of Saindhav period. Not a single Maranmurti of woman is found
from Kalibangan.

Ans— (d)

S = R e f @ s ?, 7 B i e w e el wem we @)

Revenue expenditure is also called ‘Day-by-Day Expenditure’, not to capital expenditure. All other statements
are correct.

Ans- (b)
X H T Her #Y ff- sndumun, @ e fiufor w1 enaR Wl R
o s 21

Position of Payment Balance in the country is not a basi
grounds Quotas are determined by the IMF.

=1 9+l STaRl R STETHTE g e faei

of Quota of ILM.F. On all other

Ans-— (a)
()
sduwEie  (IrCT) -
sEdengeiend  (1c1cn)
smgEiatend (1DBI)
faest (smBID)
(Organisation)
IFCI
ICICI
IDBI
SIDBI

Ans— (b)
i siredfies

Secondary Ind

Ans- (c)
R ICCREEIsRECETEd
(UNDP) 3R &Y fora

‘Human Development Inde
Income. This is released by

othed index of Life Expectancy, Academic Achievement and Per Capita
ions Development Programme (UNDP).

Ans- (b)

- 3HTE T T 20 RER 1964 ) SR (Faresrdve) o g o sm: wom (1) o &) ‘

- g fave SR 9 TSR T ol WYE s ) favhy woidt ® St wedes o e sl ferera R gt el
B o wA (2) WA R

- ‘UNCTAD’ was established on 20 December, 1964 at Geneva (Switzerland). So statement (1) is incorrect.

- This is a special agency of United Nations which keeps an eye on World Trade and publishes ‘Trade
and Development Report’ every year. So statement (2) is correct.

Ans- (c) =

i e’ B @ J RN R T YR w1 o e B 4 Wie] W B 3 I9 T O AR W T B SR i
QA 2 :

‘Green Box’ is a Financial Assistance given in the field of agriculture. These are domestic support measures
that do negligible hindrance in trade.

Ans— (c)
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o Y3 il H1 geed BUETn ® faww ¥ § ow wfaf 3 1997 F ordt Rl Wi ef
Meera Seth Committee is related with the development of handicrafts. This committee had submitted its
report in 1997.

92, Ans- (c)
2 3FERER 1975 W 5 A T 3 il fee - e W e o iReg, efeon 9 o, e 4
TR o ufvew Se W AR
5 Regional Rural Banks were established on 2nd October 1975- Moradabad and Gorakhpur in Uttar Pradesh,
Bhiwani in Haryana, Jaipur in Rajasthan and Malda in West Bengal.
93. Ans— (d)
g few e ush g wd et #
All the pairs mentioned in the question are correctly matched.
94. Ans-~ (d)
WHRR,, AU o1 TR g o g 9 uen w e w9 9 gafiw e f)
C.R.R., S.LR. and Refinance facilities, all directly affect the qu
95 Ans— (a)
e el s § den w1 frofie @ g B
Pyramid of numbers in grassland Ecosystem is Uprig
96. Ans— (b) g
G TR A S IR e fE ¥ el TAAEE 1 % HHH
2 ’
The handles of cooking utensils like e, because wood and ebonite
are the bad conductors of heat.
97. Ans~ (d)
wo fu T oad g wd
All the pairs mentioned
98. Ans-— (d)
g fawm @
All the statemé wmentioned in the question are correct.
99. Ans- (c)
‘Saen’ U U ‘ s well wedt gifem R
‘Betla’ National Park is s atehar, Jharkhand. All others are correctly matched.
100. Ans- (a)
e gAd &
( anfasnr/a ) (3w )
A&, S - T
ST ' - A o
neifrias  ferat - forwg
TEH TH - S
The correct match is :
{Invention/Discovery) (Scientist)
T.B. Bacteria - Robert Coach
Bacteria - Leeuwenhoek
Contraceptive Pills - Pincus
Sulfa Drugs - Domagk
101. Ans- (b)
Afas orued, T fFed 9ty ®1 T SER
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102.

103.

104.

105.

106.

107.

108.

Physical Weathering is an example of salt-crystal growth.

Ans~ (b)
AE gu A 9fd 100 faell. | 60-75 fbel hed S, 2.6 WM AW €S 1.1 W WA wRm W S
In the per 100 ml of human milk 60-75 Kilocalorie energy, 2.6 gm. fat and 1.1 gm. protein is found.

Ans- (c)

Tt e Hi (Cop) w1 AR Sifaw sfRisH Wit (BoD) ¥ aifus g & FiitE cop iR # % Wit
H A ® S T W SR B FEEE TR (9 e e S i) ® i ® e s 8 sEhs
BOD ®adl et serfiereolis el weied w1 amn w1 enwer e )

The value of Chemical Oxygen Demand (COD) is more than Biological Oxygen Demand (BOD) because COD is
the measure of the total Oxygen which is necessary for the oxidation of total organic substances (biodegradable
and non biodegradable) present in the water. While BOD analyses the quantity of Bio-Oxidable Organic
Substances. :

Ans- (b)

& gae 2-
(@t ) (SwT)

The correct match is :
(Compound)
Zinc Sulphide -
Zinc Oxide -
Sodium Bicarbonate -
Iodine -

ointment

Ans- (d)
WS FYE A @ o ' , T® TF SRiETE R

Potassium Permanganat s an oxidizer.

Ans— (a)

SATH (A) ' o (A) W WE =mEn
Assertion (A) son (R) is the correct explanation of Assertion (A).

Ans- (a)
W Y S yEer o
When pure water boils v

Ans- (b)
HH WSS e & T W x

JUH O H TR 9—;7—=8 (\ea Al de)

EUR e G 11—"Z-L—6=5(11ﬂar et Her)

sﬁm?ﬁvﬁﬁﬁﬁﬁm—mﬁﬂz

20 + x =24

X =4

3 ofefe Wemn 4 Bl

Suppose that the number in place of ?’ will be x.

9+7 . .
According to first row- —2—=8 (No. in middle)
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ERE
]

109.

110.

1.

112.

"3.

114.

X 4+6 N
According to second row- T=5 (No. in middle)

- . 20+x T
Similarly, according to third row- —2—=12 (No. in middle)

20 + x = 24
x =4
Hence, desired number will be 4.

Ans- (d)

AR W UF fire § uw Wed wew @ R ovet ue v ww 14 siakg 0.25 . A en S ) sefen WY gw
T e ¥ =g o gl 1-0.25 = 0.75 . B

075 H. Tg o o wwy = 2 fae

15 . = § @ 9 0—.27—5><15ﬁ=r€=40ffﬁ'€

zofers 16 e wgA o T W = 40 + 1 = 41 AR
According to the question, the monkey climbs one meter in one
1/4m ie. 0.25 m. Therefore, the distance covered by the mo
Time taken to climb 0.75 m. = 2 minutes “

ut in the next minute it slips down
utes will be 1 - 0.25 = 0.75 m.

2
Time taken in climbing 15 m. = ﬁX15= 40 minutes

Hence, time taken in climbing 16 m. = 40 + 1 = 41 m

Ans— (a)
i ¥ Sfeefigd |2 WM & (The code la
S I S T E
N
2 1 2 3 4
T UHR GO FE W (Similarly o

abcbabchba
From the observa
keeping the value fi
abcbabgcbabeceb

Ans—- (b)
Yom I % IER Q % Rl Ww
W yeR 9 ¥ pa o @ wfafem
According to the first situation the number of persons to the right of Q is 11.
Hence, total number of people in the row = 18+11 = 29

Thus, number of people in the row other than P and Q = 29 - 2 = 27

Ans- (a)

ool Y] W& The total number of incidents :

n{S) =6 x 6 =36

fie WAl %1 W& The desired number of incidents :

n(E) = 5 [(L, 5), (5, 1), (2, 4), (4, 2), (3, 3)]

wensl %1 AT 6 ® fera wifasa (Probability for sum of numbers 6)
n(E) S

P(E)=®=§g

Ans- (b)
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DHYEYA S8CHOO1 OF COMPETITION El
e W X AR Y ? Suppose that the two numbers are X and Y
U9 HT W H ST As per condition of the question ~
X+Y =10 -ommmee )

b CIRN' IR Yy [— (ii)
T, (i) F WA FA W On simlifying the equation (i)
X+Y) X=Y) =40 -mmmmmee (iii)
i, (i) 1 AE G (iii) d @ W Putting the value of ‘equation (i) in equation (iii)
10 x (X - Y) = 40
XY =4 omeeee (iv)
TR () @ik . (iv) B WA W On adding the equation (i) and (iv)
X+Y=10
X-Y=4
+
2X = 14
X=7
Tl () § X =7 WA W Putting the value X = 7 in equation (i
7+Y=10
Y=3
Fa: <A A € gen 7 B
Hence the larger number among the two will be 7.
115. Ans- (d)
TATER As per question :
A 3
575
B 6
7
C 8
D 9
T ®T IO FE W
AB C 368
B CD 579
A _16
D 35
3 A9 DT A
Hence the desired ra

116. Ans~ (b) )

] fagetl & fem @ T sl fire @ o1, won & frer @ s ofik Bt w1 frars Cemaa’ aHRn
s 1

¥d: W& FH em-

—>4,2,5, 3,1

A line is formed by the joining of two points, an angle is formed by the Jjoining of lines, a triangle is formed by
the joining of angles and a rectangle is formed by joining triangles.

Hence the correct order will be —

Point, Line, Angle, Triangle, Ractangle

—>4,2,5,3,1

117.  Ans- (d)

D F I M 2 x
| +2 4] +3 4] *4 4| +5 4| +6 4
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118.  Ans- (d)

O
o

o

|1 / Mother

-
-
.
.
.
.
.
G

¥9gY/Father-in-law

Grandson ',
\ l’f[ / Son
\“.>A M O it/ Daughter

119. Ans- (a)
CHM ¥ #1§ +t avf wr =&t & waf% DIN, LPU, KOT § &R a9 1, U, 0 &
There is no vowel in CHM whereas in DIN, LPU and KOT there are vowels 1, O, U.

120. Ans- (b)
WA W e ¥ e Faw DU WeR a9 wed SR ¥
It is clear from the question that F and D are respectivel

121. Ans- (b)
Fet-2024 # Torert WeR W 5 WU waww d wfnf 29 F oGS 10 B W
B T8 A d iy, geiifen, O, W) owe we
After the joining of 5 new member count 024, now the number of
member countries in this organization hagg ‘rabia and UAE joined this
organization as new members.

122. Ans- (b) :
Sd-2024 ¥, TEn qAAS wdeT g TR AT FETEA, WERfaeh el
g AT a6
In January-2024, Goa b Regenerative Tourism. Its objective is to
promote environment munity empowerment.

123. Ans- (¢)
BT € o= ISR B A W H uge WY War w7 | 39 e
% W q B % WA-WY Geemied UREET FENE 1 A TR w81
Recently, Chennai service in the country to be available on Open Network
for Digital Commerc Chennai Metro aims to simplify the ticket purchasing process
as well as pave the way ansportation experience.

124. Ans- (a) )
wEd-2024 H, W wH foerd f59E W ST WR9T Wepd WU R v e YWER E B # Seon & )
Prof. Rahas Bihari Dwivedi was announced to be awarded Vishva Bharati Award by Uttar Pradesh Sanskrit
Sansthan in February-2024.

125. Ans- (b)
e 2024 W, IITET ‘e fufsa wie (Ucc) foet Y T A1 WA 1 W T4 o 4R fufae s 2
SWEE THX GR G FE 9t femd o O v 30 1 oremer ¥ 5w w8 qaE o
Uttarakhand became the first state in India to pass the ‘Uniform Civil Code’ (UCC) bill in February 2024. For
the Uniform Civil Code, a 5-member committee was formed by the Uttarakhand government under the
chairmanship of retired Supreme Court judge Ranjana Prakash Desai. v

126. Ans- (c) '
S 2024 H HRA AR WACR BRI ARG ® 5 Q. IeISH Y AR Toe wifve e, fs 2w ¥ st e
W S-S e IR Rl w1 Fen 80 8 W 8
In January 2024, 5 new wetlands of India were declared Ramsar sites by the Union Environment Ministry,
through which the number of highly recognized water-logged Ramsar sites in the country has become 80.

SERIES : A Page No. 17 ) RO-Pre2023-1I1-Test5

Best Study PDF & f3€ gHT¢ App &1 Download &2 "GK Trick By Nitin Gupta”


https://play.google.com/store/apps/details?id=co.sansa.vidyc&hl=en_IN&gl=US

& Nitin-Gupta.com

127.

Ans— (a)

Sedt 2024 # 759 oy feag guRe § wiw & weafa siNge Y ge afafy @ w9 § wfinfea g

In January 2024, Emmanuel Macron, President of France attended the 75th Republic Day celebrations as
the chief guest.

128. Ans- (a)
el 2024 ® 78 foen Aifd % TEq FRE 9T F WHAT AN F €9 | wine FE B uwon e w5 e s
g # T FRE 9w fel- e g 1 9 g w1 9 fE Y @ 90 BRE al g s s 2
In January 2024, Persian language was announced to be included as a classical language under the new
education policy by External Affairs Minister S. Jaishankar.

129. Ans- (a)
Tl 2024 ® weEER AR W g0 ‘areneny oo et Yo’ @t anuRiven HWaerqw (3ifewm) o vt v uw
S 27 000 FUE ¥ fw s g ffda gl
In February 2024, the foundation stone of ‘Talabara Thermal Power Project’ was laid by Prime Minister
Narendra Modi in Sambalpur (Odisha). This project will be built at a cost of more than Rs. 27,000 crore.

130. Ans- (c¢)
Y 2024 ¥ AMgsie ToNE wftne 2024 1 SwESE R o Ifade vy o sk wda fava
* w4 3T ofted s wEwn A wie g
Vibrant Gujarat Summit 2024 was held in Gandhinagar stry leaders from around
the world, including NMDC President Mohammed bin

131.  Ans- {d)
maxmmvﬁmmmmaﬁzm fFan ww wmIR R
w1 TR Ted 3.25 Bl
Kuwaiti Dinar was declared the world s magazine Forbes in January
2024. The dollar value of one Kuwsaj

132. Ans- (c¢) :
e 2024 ® ‘ST wIEAT wie foava *1 wod qoaad i w0 qE
e T W HEA: :
According to ‘Brand : nture, an IT services brand, became the most
valuable brand in by TCS and Infosys respectively.

133. Ans- (c)
e 2024 S B SW WY & TS H A AN I FH T H ARA
)
In February 2024, Noi ‘recognized as a 'Water Warrior' city by the Department of Water
Resources, River Develop ; » Rejuvenation. '

134. Ans- (b)
SFEd-2024 #, E w1 WEL 7 w9F wmm(wmm>mﬁmmﬁ.ww
TR & uvEr P favg w1 ugen <@ s W e wgR | wE uigd Freeen @ ermfa < R
In Jan.-2024, Parliament of Norway approved the Deep Sea Mining Bill. After the start of mining, Norway
will become the first country in the world which has given permission to extract expensive metals from the
sea.

135. Ans- (a)
w2024 W ¥ gehitae g2fesia gfe g sl elemedT guenie-2023 ® wRa @ 416t e @
India was ranked 41st in the Democracy Index-2023 released by The Economic Intelligence Unit in
February-2024. )

136. Ans- (a)
Sa-2024 H T Faed e (Sformduw) 2024 W ST 4 W@ & Wi fiee Wiw wgew werew $fear
(ShTwuaTd ) TEe F1 v 1| U SRV CHIS Il WWHE 8F W URD ® WY GeARTE YA #) aeE 39
Rl
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Denmark along with India announced the ‘Green Fuels Alliance India’ (GFAI) initiative at the Global
Investors Meet (GIM) 2024 in January 2024. It aims to promote collaborative efforts with India in the field
of sustainable energy solutions.

137.  Ans-~ (d)
WEH-2024 & Bl ey o Serary uREds WA g ‘Aeete frdt g deen # aed o @ 3 el TR,
e T 3AY B AHA WA Y T, roreRrar g wfter et &
Nominations were filed for 3 cities of India— Indore, Bhopal and Udaipur under the ‘Wetland City Accreditation
Scheme’ by the Union Ministry of Environment and Climate Change in January 2024. Kolkata is not included
Jin it.

138. Ans- (a)
w2024 o w wnidfa S wEiwn gieent 20247 1 STESE TOX gR R TN BH W % qga Wi
gan gl 4 SRy T fawm & W wmE % g aw o of wen @ faw W wE few s w R
In February 2024, a scientific programme dedicated to students ‘Yuvika 2024’ was organized by ISRO. Under
this programme, an opportunity is being provided to develop and increase interest in the field of space and
science among the Indian young generation.

139. Ans- (d)
W e e g wd gafem €
All the pairs mentioned in the question are correctly m,

140. Ans- (a)
w2024 H ‘oo martde wfiz-2024" W SRS YR H SHR
o1l 39 9 WG, gRd T R B TR wdh
In February 2024, ‘World Government ear's theme was “Shaping
Future Governments’. This year India countries.
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